RAMAKRISHNA MISSION VIDYAMANDIRA

(Residential Autonomous College affiliated to University of Calcutta)

B.A./B.Sc. FIFTH SEMESTER EXAMINATION, DECEMBER 2015

THIRD YEAR [BATCH 2013-16]
Date : 14/12/2015 ECONOMICS [Hons]
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[Use a separate Answer Book for each Group]

Group - A
Answer any three questions

1. Consider the general linear model Y = xp+ €. State the assumptions that are necessary to estimate 3
by applying OLS. Prove that OLS estimates of (3 are BLUE. [10]

2. The following fitted multiple regression equation is used to estimate the trade-off between time spent
in sleeping and working (standard errors are in parenthesis), where sleep and totwrk (total work) are
measured in minutes /week, and educ (education) and age are measured in years :

sleep =3638-25 —0-148 totwrk —11-13 educ +2-20 age

(112:28) (00167) (588) (1:45)
Number of observations = 44, R? = 0-1134
a) How would you interpret the coefficient of totwrk? [1]
b) If someone works five more hours / week, by how many minutes is sleep predicted to fall? [2]
c) Are educ and age individually significant at 5% level against respective two sided alternatives?
Show your work. [4]

d) Carry out the overall test of significance (i.e. Ho : All the slope coefficients are simultaneously
equal to zero ag. H; : Not all slope coefficients are simultaneously zero) for the fitted regression
above. [3]

3. Consider the consumption function : C,=oa+pY,+u, where C; is aggregate consumption

expenditures in India and Y. is disposable income, both in rupees. u; is the random error ~ N(0,c%).
Suppose you have annual data from 1920 to 1997. Further suppose that you believe the post-
independence (after 1947) consumption function is likely to be different from the pre-independence
function.
a) Describe how you would specify a model that allows you to test whether the intercept alone is
affected in the post-independence time period. What test statistic do you use to test this? Explain
the test procedure. [5]
b) How do you include dummy variables if you believe that both the intercept and the slope
parameters are affected differently in the pre-vs post-independence period? What test statistic do

you use to see if the slope is affected in the post-independence era? [5]

4. a) Distinguish between slope dummy and intercept dummy. Describe both of these concepts using a
suitable example. [5]

b) Explain the problems associated with modelling dependent dummy variable using linear
probability model. [5]

5. a) Explain the concept of multicollinearity. What are the consequences of presence of
multicollinearity in a simple linear regression model? How the concept of VIF can be used to
detect the concept of multicollinearity? [2+1+2]

b) Explain why it is important to have (m — 1) dummy variables in case a qualitative variable has m
categories in the regression set up involving intercept. [5]
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Group—B

Write short notes on any two of the following : (2x4)
a) Policy of 'Controlled Expansion'.

b) Role of SEBI in Indian securities market.

c) Distinction between Gross NPA and net NPA.

Answer any one question of the following : @ax7)
a) Discuss the major changes in the structure of direct taxes in India in the post-reform period.

b) State in brief the movements of factor services between nations as per the provisions of GATS.

Analyse their impact on India's service trade. (3+4)
Answer any one question of the following : (1 % 15)

a) Discuss some of the major reforms undertaken in the Indian banking sector since the
introduction of economic reforms in the early 1990s. Mention the impact of all these reforms on
the performance of banking sector in the country. (9 +6)
b) Explain the need for the FRBM Act in managing public expenditure and establishing fiscal
discipline in India during post-reform period. Also indicate the impacts of global economic crisis

since 2007 on this legal step taken by the Government of India. (9 +6)
Answer any two questions of the following : (2x8)

a) Discuss the major debates around the policy of 'Operation Barga' in West Bengal during 1970s.

b) Discuss the problems of industrialization in West Bengal.

c) Mention the factors that explain the industrial growth in West Bengal after 1990s.

Answer any one question of the following : (1x4)

a) Discuss in brief the major structural breakthrough in the growth of NSDP of West Bengal in
1980s.

b) How can the HDI, as estimated in the West Bengal Development Report (2004), be used to
reflect attainments with regard to health and education in West Bengal?
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